Cdd

ROSE+BOPLA

ENCLOSURES

AAAAAAAAAAAAAAAAAAAAA

Aluform Watertight Enclosures
Product Drawings
Last Updated 9/29/2008

Rose+Bopla Enclosures
7330 Executive Way
Frederick, MD 21704
www.rose-bopla.com
rbinfo@pm-usa.com

sbuimeiq [euoisuawiqg

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800



Notes

The All-Around Solution



ROSE+BOPLA

ENCLOSURES

Rose+Bopla’s Aluform Enclosures are stylish, aluminum
die-cast housings specifically designed for rugged electronic
instrumentation applications.

Aluform Watertight Enclosures

Aluform enclosures feature an attractive beveled lid and are
designed with a lower profile height than Rose+Bopla’s standard
01 series housings. Internal mounting bosses in the base and lid
provide convenience for component installation. New hinges, and
one-piece external brackets are available as options.

An Aluform enclosure includes a powdercoat painted die-
cast base and lid, captive stainless steel lid screws and a
polyurethane gasket as the standard configuration. The unpaint-
ed version comes with a neoprene gasket.

Aluform Watertight Aluminum Enclosures—Painted

Length Width Height Weight Drawing

Part Number (Inches/mm) | (Inches/mm) | (Inches/mm) Page #

0408080800 | 315/80 | 315/80 | 319 /81| 093lbs | 1724

0408120800 | 4.72/120 | 3.15/80 | 319 /81| 1.15lbs | 1725

04101006 00 | 3.94/100 | 3.94/100 | 240/ 61| 1.10lbs | 1725

04101606 00 | 3.94/100 | 6.30/160 | 240/ 61| 1.54lbs | 17-26

04102006 00 | 3.94/100 | 7.87/200 | 240/ 61| 1.76lbs | 17-26

04121208 00 | 4.72/120 | 4.72/120 | 319 /81| 1.48lbs | 1727

A PHOENIX MECANO COMPANY

0412160800 | 4.72/120 | 6.30/160 | 3.19 /81| 1.83lbs | 17-27

0414140700 | 551/140 | 551/140 | 2.80/ 71| 1.76lbs | 17-28

0414180700 | 8.66/220 | 551/140 | 280/ 71| 1.99lbs | 17-28

0414220700 | 866/220 | 551/140 | 2.80/ 71| 2.43lbs | 17-29

04161608 00 | 6.30/160 | 6.30/160 | 3.19 / 81| 2541Ibs | 17-29

0416240800 | 9.45/240 | 6.30/160 | 319 /81| 3.20lbs | 17-30

04202007 00 | 7.87/200 | 7.87/200 | 280/ 71| 2.87Ibs | 17-30

04202807 00 | 7.87/200 111.02/280 | 2.80/ 71 | 3.31lbs | 17-31

Aluform Watertight Aluminum Enclosures-Unpainted

Length Width Height . Drawing
Part Number (Inches/mm) | (Inches/mm) | (Inches/mm) Weight Page #

0408080885 | 3.15 /80| 3.15/80| 3.19 /81| 0.93lbs | 17-24

0408120885 | 4.72/120| 315/80 | 3.19 /81| 1.15lbs | 1725

0410100685 | 3.94/100| 3.94/100 | 2.40/ 61| 1.10lbs | 1725

0410160685 | 6.30/160| 3.94/100 | 2.40/ 61| 1.541bs | 1726

0410200685 | 7.87/200| 3.94/100 | 2.40/ 61| 1.761lbs | 1726

0412120885 | 4.72/120| 4.72/120 | 3.19 /81| 1.481bs | 17-27

0412160885 | 6.30/160| 4.72/120 | 3.19 /81| 1.83lbs | 17-27

0414140785 | 551/140| 551/140 | 280/ 71| 1.76lbs | 17-28

0414180785 | 7.09/180| 5.51/140 | 2.80/ 71| 1.991bs | 1728

0414220785 | 8.66/220| 5.51/140 | 2.80/ 71| 2.431lbs | 17-29

0416160885 | 6.30/160| 6.30/160 | 3.19 / 81| 2.541bs | 1729

0416240885 | 9.45/240| 6.30/160 | 3.19 / 81| 3.201lbs | 17-30

0420200785 | 7.87/200| 7.87/200 | 280/ 71| 2.871lbs | 17-30

04202807 85 | 11.02/280| 7.87/200 | 2.80/ 71| 3.31lbs | 17-31

Note: Dimensions are external. Metric is the primary dimension.
Inch conversions and weights are for the user’s convenience and are for
reference only. Accessories shown on drawing page.

-

TECHNICAL DATA:
* Color: Powdercoated Version—Agate Gray similar to RAL 7038.

Special colors are available. See paint specifications in
the Technical Information Chapter.

Unpainted Version-Bare Aluminum.

Material: Aluminum, AL Si 12. See Aluminum specification
sheets in the Technical Information Chapter.

Gasket Temperature Range:

Neoprene Gasket —40°F to +212°F
Polyurethane Foam Gasket —40°F to +194°F

Silicone Gasket —76°F to +266°F

RFI Gasket -40°F to +392°F

Impact Resistance: >7Nm, EN50014
Approvals: File #66473, UL 50, UL508
Captive Lid Screws

Protection Classifications:

NEMA Types: up to Nema 4X

IP 66, EN 60529

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 1-7



Aluform

04080808 00/85 External Dimensions: L 80 x W 80 x H 81 mm

Standard Features )
Lid £9,/67*
10093132 00 M4x20 Stainless steel captive combo 53 for sal- View F
head lid screws. tapping M4
*10082003 00 3.3mm Neoprene Gasket for unpainted I . Ly
enclosures (14" length). Polyurethane gasket for —Eg y H 4&%_} @ @
painted version. 5 ‘E> : 5 .
ol o ] [
e~ = L. .l w i I S A
~ R
y o ! I
Accessories 2= & : [Oh ©
04000080 00 External Mounting B : = 7 @ @
. xternal Mounting Bars. T ' TTloe 5 /23 Rx :
10011060 00 Mounting Plates. I ] /23. 54
80/78* Cylinder screw
Max20/7
* = Conical form tapering downwards similar to DIN 84
Free dimensions-tolerance to GTA 13/5 DIN 1688
@ 72.5 (max. fitting height}
73/71%*
N 3 4.5
M4 51.5/49.5 Q2 10
. \ . X X
i ; =R Y =
é‘: y I*: = = = Top
CINEL ©5 ©f----1 o 4NE® <
@) @ 0 © .,
0 — ™~ * g it
o 2N
! S i
- s =
N 11 10
80,/78* > 61 20
Base o i
2 81 (total height)

17-24 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

04081208 00/85 External Dimensions: L 80 x W 120 x H 81 mm

Standard Features

+10093132 00 M4x20 Stainless steel captive combo Lid 87.5/85.5* for self- View F
head lid screws. tapping M4 94
10082003 00 3.3mm Neoprene Gasket for unpainted ]__U__[ /_ ;
enclosures (20" length). Polyurethane gasket for = L L l : ¢ + ¢
ainted version. b ¥ H C ; -
% . :Q _lﬂ),@ i 4@’: L({ F !
o & e : :
Accessories ~ L Nt B | A, T e RSRREee domeeeee
Ql @ O ' !
+ 04000080 00 External Mounting Bars. o) @ ol :W-@ : @-@ 4 ;
+10011061 00 Mounting Plates. o) Il O H i@
* 04000100 00 External Mounting Brackets. ' 109 ’ 107% * j ’ : Cylinder screw
+04000010 85 Unpainted External Hinges. N)il4x20/7
* 04000010 00 Painted External Hinges. 120/118% similar 10 DIN 84
* 10082013 00 3.3mm Silicone gasket.

* 10082022 00 3mm RFI gasket. * = Conical form tapering downwards ‘

Free dimensions-tolerance to GTA 13/5 DIN 1688 72.5 (max. fitting height)

® -
113/111% P =2 1:;
M4 " il £}
91.5/89.5 10 5 45
: s
* T eu © R 20
* i . ¥ L0 4
BRI i ~ o Top
CINEEIS s — - ‘@ly 2 A <
2 © , 0 ) =
— N ™~ [ E
ki ' LS I Farzrrzrrr - =Y
: " 1 4.3
A 2 11 10
N 61 a2
B 120/118* o o
ase o {total height)
&
04101006 00/85 External Dimensions: L 100 x W 100 x H 61 mm Page 1-7
Standard Features
+ 10093132 00 M4x20 Stainless steel captive combo Lid 67.5/65.5* for self- View F
head lid screws. [ tapping M4 N
* 10082003 00 3.3mm Neoprene Gasket for unpainted ' ¢
enclosures (14” length). Polyurethane gasket for - !
painted version. o I [
o 'CB ’;’r) ' 1
>~ 4 4- - == - |-
Accessories = > = ™ :
2| @ 5 :
+ 10011031 00 Mounting Plates. A |
* 10061041 00 Terminal Rail (TS 15). , Q
*10061471 00 Terminal Rail (TS 35). T T
04000100 00 External Mounting Brackets. 100/98.5* L—74—-——’ Cylinder screw
04000010 85 Unpainted External Hinges. MéAx20/7
04000010 00 Painted External Hinges. ['= Conical form tapering downwards similar to DIN 84
+ 10082013 00 3.3mm Silicone gasket. Free dimensions-tolerance to GTA 13/5 DIN 1688
* 10082022 00 3mm RFI gasket. 54 (max. fitting height)
* 0430009 00 Enclosure holder 98mm wide. @
93,/91.6% 3
71.5/70* TEEE T 8 =
el IR
P~
_ 10 5 Top
: ®F 15 {-jo<
g w g ot
~N oG~ N - - - 1]
OF[R o B N
S , i g - : LS
. . 1 4.3
{ N .
8,5 11 10
L—J* 41 <0
100/98.5
(total height)
Base &1 k

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-25

sbuimeiq [euoisuawig



Aluform

04101606 00/85

External Dimension

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo
head lid screws.

+ 10082003 00 3.3mm Neoprene Gasket for unpainted
enclosures (20" length). Polyurethane gasket for
painted version.

Accessories

*10011032 00 Mounting Plates.

* 10061042 00 Terminal Rail (TS 15).

* 10061472 00 Terminal Rail (TS 35).
04000100 00 External Mounting Brackets.
04000010 85 Unpainted External Hinges.

+ 04000010 00 Painted External Hinges.

+ 10082013 00 3.3mm Silicone gasket.
10082022 00 3mm RFI gasket.

04300009 00 Enclosure holder 98mm wide.

Lid 127.5/125.5*
11.5
A= A
S B m
SN N -
Q Te) [9)]
~— Ld [+8) |
Al © §
1
149 /147.6%
160 /158.5*

for self-
tapping M4

1* = Conical form tapering downwards

Free dimensions-tolerance to GTA 13/5 DIN 1688

®

Cylinder screw
Max20/7
simitar to DIN 84

54 (max. fitting height)

* 04000100 00 External Mounting Brackets.
* 04000010 85 Unpainted External Hinges.
04000010 00 Painted External Hinges.

* 10082013 00 3.3mm Silicone gasket.

* 10082022 00 3mm RFI gasket.

* 04300009 00 Enclosure holder 98mm wide.

©
100/98.6%

* = Conical form tapering downwards

Free dimensions-tolerance to GTA 13/5 DIN 1688

|

®

193/191.5*

171.5/170*

18/17*

93/91.5*

200/198.5+

Base

153 /151.5% =
M4 131.5/130% 3
},_ Top
I . ®f— 5 +1® <o
QT . ; 0 >
o8] - 1 - O
CEIINE’ W< ; ol ® 2 o5 10
Ol ™~ i < | @
S| 191 % N 1376 > 3=
= ! > 2 JKS
' A ? 43
145 11
160/158.5* "3 20
Base 61 {total height)
04102006 00/85 External Dimensions: L 200 x W 100 x H 61 mm Page 1-7
Standard Features
10093132 00 M4x20 Stainless steel captive combo Lid for self- View F
head lid screws. i
10082003 00 3.3mm Neoprene Gasket for unpainted 167. 5/! 65.5+ tapping M4 174 —I
enclosures (22" length). Polyurethane gasket for I r +
painted version. ? : :
o|in| B 151.6 i
2@z ) < |
A i | N ] q-
ccessories 8 % E 189/1]87.5* ™~ !
+ 10011033 00 Mounting Plates. T h Py | !
10061043 00 Terminal Rail (TS 15). L
* 10061473 00 Terminal Rail (TS 35). 200/198.5*

Cylinder screw
M4ax20/7
similar to DIN 84

54 (max. fitting height}

?8.65/07.6*

61 (total height)

17-26

The All-Around Solution




®

ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

04121208 00/85 External Dimensions: L 120 x W 160 x H 81 mm

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo Lid
head lid screws. 87.5/85.5% for self- View F
L 1.

* 10082003 00 3.3mm Neoprene Gasket for unpainted tapping M4
enclosures (20" length). Polyurethane gasket for
painted version.

Accessories

120/118%
109/107*

04000120 00 External Mounting Bars

+ 10011062 00 Mounting Plates
04000010 85 Unpainted External Hinges.
04000010 00 Painted External Hinges.

+ 10082013 00 3.3mm Silicone gasket.

* 10082022 00 3mm RFI gasket.

O : o
94
* = Conhical form tapering downwards

Free dimensions-tolerance to GTA 13/5 DIN 1688

Cylinder screw

i

109/107*

72.5 (max. fitting height) MAx20/7
10 ] similar to DIN 84
-------- *
3 20 1 45 .
X r s op
z A R R ® «
©3 5©® S| |
— 3} 3
o ~—
) =1 T
1 4.3
11 10
61 20

81 (total height)

04121608 00/85

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo le f i .
head lid screws. 127.5/125.5* t;" S?n_ Ma View F
10082003 00 3.3mm Neoprene Gasket for unpainted Pping \
enclosures (20" length). Polyurethane gasket for ' ] &
painted version. x D 111 o] :
& Lo ; '
-2 I :
. - < i % i
Accessories Z ; E ............. /. .............. o [ N [ S R
Q 149/147*
04000120 00 External Mounting Bars. S 9 8 T H
10011063 00 Mounting Plates. Ne H o8 (o :
04000010 85 Unpainted External Hinges. 3 r :
+ 04000010 00 Painted External Hinges. j : '
10082013 00 3.3mm Silicone gasket. 160/158* 134
10082022 00 3mm RFI gasket. Cylinder screw
| * = Conical form tapering downwards Max20/7
: Free dimensicns-tolerance to GTA 13/5 DIN 1688

72.5 (max. fitting heighty ~ Smilar to DIN 84

1537151

M4
131.5/129.b*
N

@)
¢8.5/¢:7.5*
@
4

120/1 18
97
83
@]
/17

113/111%
@

69.5/67.5% |

L 145
160/ 158*
Base ) 81 (total height)

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-27

sbuimeiq [euoisuawig



Aluform

04141407 00/85 External Dimensions: L 140 x W 140 x H 71 mm

Standard Features

. , Lid
* 10093132 00 M4x20 Stainless steel captive combo * for self- .
head lid screws. 107.5/105.5 tapping M4 View F
+ 10082003 00 3.3mm Neoprene Gasket for unpainted
enclosures (20” length). Polyurethane gasket for
painted version.

Accessories

140/138%
129 /127%
85.5/83.5*

*10011034 00 Mounting Plates.

* 10061044 00 Terminal Rail (TS 15).

* 10061474 00 Terminal Rail (TS 35).
04000140 00 External Mounting Brackets.

04000010 85 Unpainted External Hinges. 140/1 38.5* 1 1'4

04000010 00 Painted External Hinges.

+ 10082013 00 3.3mm Silicone gasket. * = Conical form tapering downwards Cylinder screw
10082022 00 3mm RFI gasket. Free dimensions-tolerance to GTA 13/5 DIN 1688 M4x20/7

* 04300014 00 Enclosure holder 138mm wide. similar to DIN 84

133/131%
11.5/109.6% | <&
| R |

' « 10 X .
* 3 fe}
& ; o) s N Top
i A slR . © - SRE NP
©579 [ s N0 2
P2 Q93 1 © 10
¥ ; - | M 3 4:
8955 0 B B
i NS £
' ! g 4.3
125 51 2Q
140/138* 71 (total height)

B
ase

External Dimensio

Standard Features

10093132 00 M4x20 Stainless steel captive combo Lid 147.5/145 5% for self- View F
head lid screws. T tapping M4 .
* 10082003 00 3.3mm Neoprene Gasket for unpainted 1 O | 3
enclosures (24” length). Polyurethane gasket for J !
painted version. 5l B 1 3|1 5 !
I~
B & 2 X " |
Accessories 3 ; B ———————— i - d-=--==- Ammmmeo- L]
R A ST 169/167.5*% !
10011035 00 Mounting Plates. - ® 3 1I54
+ 10061045 00 Terminal Rail (TS 15). { :
* 10061475 00 Terminal Rail (TS 35). '@ i o ;
* 04000140 00 External Mounting Brackets. T
+ 04000010 85 Unpainted External Hinges. 180/178.5* Cylinder screw
04000010 00 Painted External Hinges. 7 5 . MAx20/7
* 10082013 00 3.3mm Silicone gasket. * = Conical form tapering downwards - . e
10082022 00 3mm RFI gaskeg Free dimensions-tolerance to GTA 13/5 DIN 168j 64 (max. fitting height) similar to DIN 84
04300014 00 Enclosure holder 138mm wide.
173/171*
151.5,/149.54 10 s T
| @ 3
157 . * Top
fe}
% e e e R
D2l | ~ 5 " )
CINIEER L S d-ees ® 5
o ! « al 3 1 o 10
2 | - @| < s
135.5 © :
- Sem—— Sk
i = ! ] 4.3
165 .
180/178* 51 20
71 (total height)
Base

17-28 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

04142207 00/85 External Dimensions: L220 x W140 x H71 mm

Standard Features

Lid for self- Vi
. : iew F
* 10093132 00 M4x20 Stainless steel captive combo 171.5 tapping M4 )
head lid screws. - r 1 o
* 10082003 00 3.3mm Neoprene Gasket for unpainted O | 1 1‘94
enclosures (28 length). Polyurethane gasket for . 'q)' 150 |
painted version. * | * {0 ) .
BlIN|m 209/207.5* o l
. N R | Mysyee— [T U sy o 2 44 - Lo -
Accessories > T I o T )
Q| o 0 ) )
T NG 187.5/185 .5+ \
*10011036 00 Mounting Plates. @« ; 1
10061046 00 Terminal Rail (TS 15). @ 1 5 1
10061476 00 Terminal Rail (TS 35). @ 1 & ! o
04000140 00 External Mounting Brackets. R
04000010 85 Unpainted External Hinges. 220/21 8.5% o ) Cylinder screw
04000010 00 Painted External Hinges. - . _ 64 (max. fitting height) M4).(20ﬂ
+ 10082013 00 3.3mm Silicone gasket. [ * = Conical form tapering downwards —l similar to DIN 84
+ 10082022 00 3mm RFI gasket. | Free dimensions-tolerance to GTA 13/5 DIN 1688
* 04300014 00 Enclosure holder 138mm wide. @ ______ %/
213/211+ N 3 ..
4 191.5/189.6* 7 :
) 20.5
L | @
1
* ) * Top
5 | 25l ©f--- TR S G
Bt PN O ! O~ — *
c A S-------- oo m - = 0
ol | s) M ™~
= 150 ey bt 5> e
- I A) )
175.5 v & 10.5
| ’ Y
- -
197 {o s 2 eg s
205 1| 12 =
Base 220/218* {total height)
725

04161608 00/85 External Dimensions: L 160 x W 160 x H 81 mm

Standard Features

+ 10093132 00 M4x20 Stainless steel captive combo Lid 127.5/125.5* Igr S?rlf Ma View F
head lid screws. N R pping '
+ 10082003 00 3.3mm Neoprene Gasket for unpainted % : P o H 16
enclosures (24” length). Polyurethane gasket for 1 1 '1 1 I }
painted version. x ;
x T*\ £ 1 ;
0 he} : 3
Accessories o ¥ e : ) B
T peeeremme oo F 1) A -
" B D H — :
04000160 00 External Mounting Bars. ol < A : H
+10011064 00 Mounting Plates. =73 149/147* ;
04000010 85 Unpainted External Hinges. - : ;
04000010 00 Painted External Hinges. ® “ P oo ) Cylinder screw
+ 10082013 00 3.3mm Silicone gasket. r o ; 1 Max20/7
10082022 00 3mm RFI gasket. 1 60/1 58+ 134 similar to DIN 84
* = Conical form tapering downwards
M4 @ Free dimensions-tolerance to GTA 13/5 DIN 1688
! 53/ 151* 72.5 {max. fitting height)
R :
L P e | g _ £
131.5/129.5*
go E * 10
H * -
O H ~ [ts} *
~| M) i = v 3
© 9 e b Z|© 0 Top
ol | : A ® 4 5 ® <
© 137 0 ~
’ : 61 .9 20
. 115.5 24 1 ‘g 10
N 5 |
145 b & EIEEE - EE%
160/ 158* S 11 4.3
Base i 81 (total height)

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-29

sbuimeiq [euoisuawig



Aluform

04162408 00/85 External Dimensions: L160 x W240 x H81 mm

Standard Features

+ 10083132 00 M4x20 Stainless steel captive combo Lid 191 View F
head lid screws. 1 . = = X r ;
+10082003 00 3.3mm Neoprene Gasket for unpainted 150 T )
enclosures (28” length). Polyurethane gasket for - . "o 214
painted version. e ﬁ 229/227* :
E g i o 12 [ O -
- SN N e Oﬁ? Tr--"-"-""7° [
Accessories o ®| 0 I |
Qs 8 207.5/205.5* :
Y
* 04000120 00 External Mounting Bars. D ® : hd :
10011065 00 Mounting Plates. @ | ﬁ |
+ 04000010 85 Unpainted External Hinges. -
+04000010 00 Painted External Hinges. 240/238* for self- Cylinder screw
+10082013 00 3.3mm Silicone gasket. tapping M4 Max20/7
g - similar to DIN 84
+10082022 00 3mm RFI gasket. | * = Conical form tapering downwards 72.5 (max. fitting height)
"Free dimensions-tolerance to GTA 13/5 DIN 1688 1

® ===

M4 233 I231* <& 'T 10 55
211.5/209.5+ M 3 \
| 9 o
* b I To
2 SRR I =111 NGE SR SR JoR
O 4 188------ it R | A0, o
@) | w0 [ToN N5} ~
© 150 - | © S
— | é ol 681 15 20
195.5 — o 10
i & 1 s
T 3
Ermm—| =
225 . 11 —
Base 240/238* 81 (total height)
04202007 00/85 External Dimensions: L200 x W200 x H71 mm Page 1-7
Standard Features Lid
[ for self- .
* 10093132 00 M4x20 Stainless steel captive combo 200/198.5+ tapping M4 View F
head lid screws. i ; rg t m
* 10082003 00 3.3mm Neoprene Gasket for unpainted & 1 (@"— |
enclosures (30" length). Polyurethane gasket for 161,56 174
painted version. X : '
ol 189,/187.6+ !
ol i ) i i
Accessories Slals ! ™ T
Ol o0 IYe) 1 I
. N|— <t 1 I
* 10011037 00 Mounting Plates. - 167.5/185.6* |
* 10061043 00 Terminal Rail (TS 15). - 1
* 10061473 00 Terminal Rail (TS 35). & | @%— :
+ 04000200 00 External Mounting Brackets. L L 2

04000010 85 Unpainted External Hinges.
04000010 00 Painted External Hinges.
+ 10082013 00 3.3mm Silicone gasket.

Cylinder screw

64 {max. fitting height) Max20/7

* = Conical form tapering downwards
Free dimensions-tolerance to GTA 13/5 DIN 1688

* 10082022 00 3mm RFI gasket. @ A
4 193/191* ]
: 35
171.5/169.5* A
é : 'l‘\) = & ® Top
| kd <| » - - - -0 L -
© S|ReR------ e | SN0 ® N <
8 R RIEE 3
A 177 i LR 105
| —
155.5 y |
! d— ------ =) cJ -
5 . 4.3
185 52 205
Base 200,/198* 72.5 ttotal height)

17-30 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

®

04202807 00/85

External Dimensions: L280 x W200 x H71 mm

A PHOENIX MECANO COMPANY

Page 1-7

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo
head lid screws.

* 10082003 00 3.3mm Neoprene Gasket for unpainted
enclosures (33" length). Polyurethane gasket for
painted version.

Accessories

*10011059 00 Mounting Plates.

* 10061048 00 Terminal Rail (TS 15).
10061481 00 Terminal Rail (TS 35).
04000200 00 External Mounting Brackets.
04000010 85 Unpainted External Hinges.
+ 04000010 00 Painted External Hinges.

* 10082013 00 3.3mm Silicone gasket.

* 10082022 00 3mm RFI gasket.

Lid 280/278.5*

for self-

e

I
269/267.5*

189,/187*
145.5/143.5*

247.5/245.5*

@:@

L

¥

=

* = Conical form tapering downwards

Free dimensions-tolerance to GTA 13/5 DiN 1688

|

251.5/249.5% <
L 8
. 273/271* of,
3 ; [ i
ERREC | | S [ Er e S
~ 2L:=>7 | gr) 2
223 -

Base 280/278*

=

Cylinder screw
Mdx20/7
similar to DIN 84

3.5
Top

20.5

10.6

*
te)
~
<
52@.
oo
e

245

: 4
"""" g c‘@ 4.3

1 72.5 (total height) |

sbuimeiq [euoisuawig

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-31



MCRYCCTBO HAAEXXHOCTH

000 «HUOKPcuctemc» - 3TO OfepaTuMBHblE MNOCTaBKM LWMPOKOro
CNeKTpa 3NEeKTPOHHbIX KOMMOHEHTOB OTeYeCTBEHHOr0 M MMMOPTHOrO
NPOM3BOACTBA HAMpsMy OT MNpoM3BoAUTENEeN N C KPYMHEULWNX
MUPOBbLIX CKNadoB. Peanusyemass Hawen KOMMaHWenm npoayKums
HacuuTbiBaeT 60n1ee NoNYMUIIMOHA HAMMEHOBAHUN.

Bnarogaps 3TOMy Halwa KOMMaHWs npegnaraeT K MocTaBke
NPaKTUUYECKN He OrpaHMYEHHbIN aCCOPTUMEHT KOMIMOHEHTOB Kak
OMTOBbLIMWU, MENIKOONTOBbLIMU MAPTUAMU, TaK U B PO3HULLY.

bnarogaps paBBMTOVI CEeTuM NOoCTaBLLMKOB, MOMOIraeM B MNMOUCKE U
I'IpVIO6p€T€HVIVI 3K30TUYHbIX nnn CHATbIX C npomnsBoacCTBa
KOMIMOHEHTOB.

Hawa KoMnaHusa 3TO:

. fapaHTNa KadecTBa NOCTaBASeMOn NPOaYyKLNN

. LLINpOKMN aCcCOPTUMEHT

] MWHMMaIbHble CPOKWM MOCTaBOK

. TexHn4YecKasa nogaepxka

. Monbop KoMnaekTauum

J NHovemayanbHbI NOAX04

. fmbkoe ueHoobpa3oBaHue

J PaboTaem no 275 @3
000 «HNOKP CUTEMC» TenedoH: 8 (495) 268-14-82 WHH: 7735154786
MockBa, 125362, Poccus, yn. Email: n@nsistems.ru OlPH: 1167746717709
BuwHeBas, a. 9, K. 1, bnok 104 an

104 8



